1. qdl W 3Ty Ul & fohedel Ufderd o o e &2

What percentage of water available on earth is drinkable ?

a) 10% & P/ Less than 10%
b) 1% ¥ HH/ Less than 1%

c) olITHIT 5%/ About 5%

d) olITHIT 15%/ About 15%
Correct: b

2. 38 9Y Hedd oo e BU fha ¢r o Siar &2
Which country has won Sultan Azlan Shah Cup this year ?

a) F{rﬁﬁ?/ New Zealand
b) 7ot/ Argentina

c) AN/ India

d) UTfehEdTal/ Pakistan
Correct: a

3. &k Siieprdis fhH Wl d IS &7

Novak Djokovic is associated with which game?

a) i Ef39/ Lawn Tennis

b) dsfdesa/ Badminton

c) TS/ Chess

d) A HYAT HedTel/Soccer
Correct: a

4. 38 99 & %o U g gfaafar feaa Shdr &2

This year's French Open Tennis championship was won by-

a) TUhS ASTel/ Raefel Nadal

b) AldTeh Sailehlfdeh/ Novak Djokovic
c) U H3IT/ Roger Federer

d) faa @9/ Robin Soderling
Correct: a

5. HARAT RUIET fha B & FE 2

Maria Sharapova is associated with which sport?

a) dsfdHe=/ Badminton

b) RTehT/ Swimming

c) TYelfeadd/ Athletics

d) AT-EAF/ Lawn Tennis
Correct: d

6. ¥TSS UUS 3R AT &7
Standard & Poor (S&P) is -

a) I THh Jb o/ Itisa bank

b) g IARDT &1 Teh T geaa ?i/ It is an American financial
institution

c) g Tdh AR A I v %’/ It is a global investment rating
agency

d) g e T T J@IULIETuT dUaT ©/ It is an Australian

auditing company

Correct: C
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7. TUo-ad<l T &2
What is EI-Nino?

a) BIET PR BT Th T 34'73?»[/ New model of a small car

b) gllels &l T A/ Itis a town in New-Zealand

c) Tl-ATedIBR &l Tdh Tdeldd TATA/ Itis a historical place in El
Salvador

d) Ig Uk AGA Uead ©/ Itis a climatic pattern

Correct: d

8. i @ o a¥ 1 FIQ Ber B ar B2

Which day of the year is considered to be the shortest day of the year?

a) 22nd December
b) 25th December
c) 21st March

d) 23 September
Correct: a

9. I FATEASA FEl W §?
Gobi desert is in which country?

a) I/ China

b) ool AT/ Algeria
c) HTFTDI/ Mexico
d) 3TATDT/ USA
Correct: a

10. @ & H AT F HUAT Ugell AAT-Afed HedRaT fArT & fham &1 3@ &
o AT fhT T IeaReT-Are &1 &1 AT §?
Recently China has launched it's first manned space mission. What is the name of
spacecraft used for this purpose?

a) errg-gi—l/ Shenzhou-1
b) Ql&g-gi-Q/ Shenzhou-9
c) ia?IIIJI‘IJI-l/ Tiangong-1
d) S3HAA-1/ Jiuquan-1
Correct: b

11. 'Uclh[AES ATHD JED & ol Pl &2
Who is the author of 'The Alchemist'?

a) faforgar AMRE/ William Morris
b) Ufel PITeRI/ Paul Coelho

c) Q¢ A/ Robert Owen

d) ST fRMA/ John Grisham
Correct: b

12, SoafehEdra i Fgr o g2
Which is the currency of Uzbekistan?

a) TIA/ Som

b) &del/ Rouble
c) difera¥/Bolivar
d) drg/ Vatu
Correct: a
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13.

14.

15.

16.

17.

18.
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fecaa e & @ fFa & HROT gar &2

Tetanus is caused by a-

a) JFERAT/ Bacterium

b) drsyd/ Virus

c) g SiaTo] St & A a3y § o @ JeREIRAT/ Microgranism which is
neither a Virus nor a Bacterium

d) SURIh (@)d (b) AGIH %T / Both (a) and (b) above depending upon
conditions

Correct: a

I F A B2

How old is Sun?

a) STITHIT UTT 3_A zrc‘r/ About 5 billion years

b) STITIT UrT S au/ About 50 million years

c) STIHIT & 3T T/ About 2 billion years

d) I G 3RT aY/ About 20 billion years

Correct: a

Sextant T %?
What is a 'Sextant'?

a) Th I IF %/ It is @ musical instrument

b) 38 HifadhT gdreqor %?3’ 3UAET fhar SATET §/ Itis used for some
experiments in Physics

c) 28 IO HAfefelar &g UAeT fRAT SITET ®/ Itis used for
mathematical modelling

d) Ig Uh 39 ¢ 8 gt f@fas 3k fear iy fis & &=

PIUT B AT &b TIT 3UART TRAT JATAT &/ It is an instrument to

measure angle between the earth's horizon and a celestial body.

Correct: d

e & @ Plad & Al H FErd A8 T &2

Which of the following rivers is not the tributaries of the river Ganga?

a) JHAT/ Yamuna
b) HI/ Son

c) Hdelal/ Satluj
d) PIEY/ Kosi
Correct: C

'STU3R &l faEaRd §7 &1 82
What is the full form of 'GAAR'

a) Government Action Against Ragging

b) General Agreement on Anti-dumping Regime
c) General Anti-Avoidance Rule

d) Geostationary Anti-Aircraft Radar

Correct: o

FT A O PlT a1 S PR H ARG A I &7

Which of the following countries is bigger than India in size ?

a) ATFGD!/ Mexico

b) o-?]?ilaog/ New-Zealand

c) afgyor 3-T®?Fr/ South Africa
d) STeitel/ Brazil

Correct: d



19.

20.

21.

22.

23.

24 .
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3 O ST0T Y 3T & T H T Bid T ToT JIM HT @WST W &2 / The states

from north to south situated on the Bay of Bangal are:

a) fIEIR, 3BT, 37T UesT, IfdeT e1g/Bihar, Odisha, Andhra Pradesh,
Tamil Nadu

b) HETS, U. 97T, ST, 3T U, dfdel dlg/Meghalaya,W. Bengal,
Odisha, Andhra Pradesh, Tamil Nadu

) . SITTeT, TR, 3ATYT TS, dfdel AT5/West Bengal, Odisha, Andhra
Pradesh, Tamil Nadu

d) 3NSIRM, T. TS, 37T T, ITdeT Tg/Odisha, West Bengal, Andhra

Pradesh, Tamil Nadu

Correct: C

HRT A fhae ypR i Ao arlt S &2

How many species of fish are found in India ?

a) 5000
b) 2500
c) 250
d) 1500
Correct: b

faar &1 ged gaara Al BT &2

Who is the wealthiest woman in the world?

a) FERTAT TSI/ Queen Elizabeth
b) gﬁv Fj\é/ Indira Nooie
c) S1.p. WFeaT/ IK Rowling
d) a1 A%/ Gina Rinehart
Correct: d
g Sifed Bl A2
Who was Steve Jobs?
a) UUd $hUT & Te-G€ATTdh/ Co-founder of Apple.
b) Wﬁ-—d YT P W-WW/ Co-founder of Microsoft
c) seol-lT & GrstahdT/ Inventor of Intel chip
d) g wE TSl 35T & WielehdT/ Inventor of USB flash drive
Correct: a
IRA IFhT Bl &2
Who is Warren Buffett?
a) NIt T BT I oA ﬁﬁf‘\’lﬂv_clsf/ The most successful investor of
20th century
b) AR &I I 37HR AGH/ Richest man of the world
c) ay¥ 2011 BT I Th ol o@d/ The best selling English author
of 2011
d) ARSI FT FId ghd Rﬂ?TCIﬁ/ The most successful industrialist of
USA
Correct: a

g & av agufa aia &

Who is the new President of Egypt?

a) g HIRA / Hosni Mubarak

b) AgFAS AT / Mohammed Morsi
c) 37EHS AT/ Ahmed Shafik

d) Tollole  Sid / Elijah Zarwan
Correct: b



25.

26.

27.

28.

29.

30.
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NIl I A HRT H P § D deb AMEA fhaT AT?
Lodi dynasty ruled India during

a) 1500-1526
b) 1415-1526
c) 1451-1526
d) 1426-1526
Correct: C

3RMP FEA o b F Hd dob qTEA fopar ?

Ashok, the great, ruled from------- to------ .
a) 269to0 232 BC

b) 232 to 269AD

c) 169 to 132 BC

d) 326 to 300 AD

Correct: a

TeRTd TEIT HIAATY AT Pl ATAG otell o fohw af # caed forar A

In which year Somnath temple situated in Gujarat was destroyed by Mahmud Ghazni?
a) 1025

b) 1125
c) 1101
d) 1015
Correct: a

fora a¥ & e TR o $¥c 3T udl &1 AET ARG A Ford fopar am?

In which year the British Govt. terminated the reign of East India Company in India?
a) 1947

b) 1945
c) 1858
d) 1857
Correct: C

TYH AR IfeFun Wl hd g A?

When were the first modern Olympic games were held?

a) 1924
b) 1904
c) 1896
d) 1892
Correct: C

Ugell fohdhe e AT gl Woll I=—AT AT?
Where was the first Cricket test match played?

a) 3705 / England

b) Aal / Melbourne

c) PISEC-TAY / Christchurch
d) tf3es / Adelade
Correct: b



31. IR & &l O 99T 98 SIGT A9 gRT el Sl &2

Which language is spoken by the largest number of people in the world?

a) feal / Hindi

b) 37T / English

c) FsRS / Mandarin
d) TUTAR / Spanish
Correct: c

2. uh qe & A A P e A &2

How many bones a child's body contain?

a) 206 & 31fAF / More than 206
b) 300 37fAh / More than 300
c) 206

d) 206 ¥ &HH / Less than 206
Correct: b

33. fgh YuTell 3UAT dTell YUH S PHlAdm AT?
Which was the first country to adopt the Metric system?

a) il / Greece
b) WIE / France

c) T /China

d) fSIeT / Britain
Correct: b

34, W TEAT H fRE b WR &2

Tera (T) is equivalent to -

a) 100 31T / one million million
b) TUh 3d / one billion

c) cd WId /ten trillion

d) &d 3/ one thousand million
Correct: a

35. T Ubdecagon T fohdar RIIEES ?

How many sides an Undecagon has ?

a) 11
b) 10
c) 09
d) 12
Correct: a

36. U quadrilateral I fha=T @SS Bl §?

How many sides a quadrilateral has?

a) 04
b) 14
c) 09
d) 08
Correct: a
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37. TEf@Aa-S-6 P .o F.aH T W FaT FaT B2

Vitamin B6 is also known as-

a) @4 / Niacin
b) ursREIFa / Pyridoxine
c) RATFeTda / Riboflavin
d) ATITAT / Thiamine
Correct: b

38. «afad f& afd o fop.afr./ufa ger &2
Sound travels at about ........ kms/hour
a) 1000
b) 1200
c) 3000
d) 1500
Correct: b

39. T4 & BT TOT A PI B TIY I3T 3cUEH &7

Which country is the largest producer of coal?

a) AT / India
b) FH / Russia
c) T / China
d) 3TAR@T / US
Correct: C

40. fau & sl @1 G N BT FIH T3 ScUeh &2
Which country is the largest producer of wheat?

a) HART /India

b) T / China

c) T3l / Canada
d) FH / Russia
Correct: b

41. Taa & i GT A U P FAY GST 3cUGDH B?
Which country is the largest producer of tea?

a) Tl / China

b) HYSIhT / Sri Lanka
c) ART / India

d) TdTST /Rawanda
Correct: a

42. WA 1867 H FIJM A ¥F d fha ToT & @ler am?
Which state was bought by USA from Russia in 18677

a) 3TITEDRT / Alaska

b) TATS / Hawaii

c) aifdoea / Washington
d) 3T / Oregon
Correct: a
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43.

44 .

45,

46 .

47 .

48.
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forg o ot g After aw & v & FamT Far &2

Which day is observed as World Women's Day?

a) 08 #AS /08th May

b) 08 AT / 08th March
<) 18 AT / 18th March
d) 18 #AS / 18th May
Correct: b

fore g & ARE TeRaT Gaw & § H FAAT AT &2

Which day is observed as International Literacy Day?

a) 08 TR / 08th September
b) 05 fAd#aX / 05th September
c) 24 3TReX / 24th October

d) 05 Sfef / 05th June

Correct: a

gt & 3R e ¥2

How old is the Earth?

a) 4.6 3RT IV / 4.6 billion years
b) 5 3R Y /5 billion years

c) 5.6 3R d¥ /5.6 billion years
d) 3.6 3T Y / 3.6 billion years
Correct: a

& 3R g & A B g e ¥

What is the distance of Earth from Sun?

a) 15 U . #T. / 150 million kms
b) 10 PUS . 3T /100 million kms
c) 1.5 &S TB.# /15 million kms
d) 15 @ 6.3 / 1.5 million kms
Correct: a

fa% &1 a8 g37 ST-UuTd Pl AT 2
Which is the greatest waterfall in the world?

a) TAATIRT STA-UUTd (hATST/3TARDT) / Niagara Falls (Canada/US)
b) 35 STA-UUTd (3%9d) / Grande Falls (Uruguay)

c) UT3ell 3hI=d! STol-UUTd (sITsilel) / Paulo Afonso Falls(Brazil)
d) AT STl-UUTd (ST18Y) / Boyoma Falls (Zaire)

Correct: d

Ted a2 i sl @ &2
Which is the largest lake ?

a) HEUIT a1 / The Caspian sea
b) olh GURAT / Lake Superior
c) b e / Lake Victoria
d) o dhel / Lake Baikal
Correct: a



49.

50.

51.

52.

53.

54.
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JgQ 8T ASTENER T AT ATH &2
Name the largest ocean.

a) HRAT FASTEIR / Indian ocean

b) UM AR / Pacific ocean

c) 3cdifed ABNR / Atlantic ocean
d) 37Thfess FRMATIR / Arctic ocean
Correct: b

S5-3I A TAYAT P §§?
When was Red Cross founded?

a) 1942

b) 1924

c) 1864

d) 1919

Correct: o

deTS[UelT &Y AL W AT &2
The official language of Venezuela is -
a) TUTAR / Spanish
b) YIS / English
c) 332 / Danish
d) %d / French
Correct: a

ARAT 3 g & o T 1 fohdan gfdera &2

What percentage of world's total land area is occupied by India?
a) 2%

b) 2.24%
c) 2.42%
d) 16%
Correct: C

s 3 i Rew o 3 gé

In which year French revolution took place?

a) 1769
b) 1789
c) 1679
d) 1798
Correct: b

fa% s & Fe #E& &1 aR ha a¥ & Y& g3 UT?

In which year the Great Depression began?

a) 1939
b) 1929
c) 1919
d) 1909
Correct: b



55. forE oW & AEAA HfAE ARG 3T AT?

When did Simon Commission arrive in India?

a) 1929
b) 1921
c) 1928
d) 1930
Correct: C

56. I S  dEl A URE GiBT AT URFEH fohar am?

From where Gandhiji started his famous 'Dandi march'?

a) AT / Sabarmati
b) JSTdhIC / Rajkot

c) HTIAIN / Bhavnagar
d) g8l / Baroda
Correct: a

57. TS Cdor @l fohaa Bemsa foear ar
Who had designed the "Swaraj flag"?

a) U. STa1eX. ol &% / Pt. Jawahar Lal Nehru

b) WER dodd ATS U / Sardar VallabhBhai Patel
c) FercAT T / Mahatma Gandhi

d) FUTSA ATIg / Sarojini Naidu

Correct: C

58. @pid H IR & 2012 W HU & A -Beda A Well AP?
Which four teams played the semi-final of 2012 Euro-cup?

a) T, 5'7'?)'3, Saall, S / Spain, England, Italy and Germany

b) GITJSIT-ﬁ, édé's, gccldlloi, ékc:hd / Germany, England, Portugal and Ukrain
c) FQT-T, El'?-i""l'l?vr, 336“, ST / Spain, Portugal, Italy and Germany

d) 336", Eﬂflc_-ﬁ, ‘g?-hl'l?[, E'ﬁ'?\g / Itlay, Germany, Portugal and England
Correct: c

59.  g¥ 2012 &HT JU-HU fhEa Shar

Which team has won the 2012 Euro-Cup?

a) T / Spain

b) S / Germany
c) Scall / Italy

d) ‘3?-17”?{ / Portugal
Correct: a

60. fAFd A & Pl a1 vy TF A & & A1

Which of the following is not a state subject on the state list?

a) gi%m / Police

b) &ars / Irrigation
c) P / Agriculture
d) dfhar / Banking
Correct: d
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61.

62.

63.

64 .

65.

66 .
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ey & JfafR 3R fhael AR 9d g & Aeadr urg &2

Besides Hindi how many other languages are recognised as Scheduled Languages by the
Constitution. ?

a) 16
b) 18
c) 19
d) 21
Correct: d

AR F ARG IAPR JMeT B g3 AT
When did the Civil Rights Movement in USA take place?

a) 1860-1867
b) 1867-1890
c) 1954-1968
d) 1954-1958
Correct: C

Tt fore e 1 wal e &

Scurvy is caused by the deficiency of which Vitamin?

a) A

b) B

c) C

d) D

Correct: c

faafda o= &2

What is Niacin?

a) A form of Vitamin

b) One of the Vitamins-B
c) Another name of Vitamin-C
d)

It is one of the Amino Acids necessary for protein synthesis in body

Correct: b

eI & foheay ARl & g=mar &2

Porassium helps us protect from which diseases?

a) High Blood Pressure & Stroke

b) Scurvy and other allied ailments

c) Beru-Beri and other related ailments
d) Arthritis and Osteoporasis

Correct: a

TTA-3UAT R & AT F Bl &2

Night Blindness is caused due to deficiency of

a) dleT BUCIT / Beta-Carotene
b) frerfda-a / vitamin-B

) faerfda-$ / vitamin-E

d) faerfda-4 / Vitamin-K
Correct: a



67.

68.

69.

70.

71.

72.
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I, IS, BT T AT FT & Serexor &2

Sulphur, lodine, Carbon and Bromine are all examples of -

a) AT / Chemicals
b) YTd / Metals

c) 3AYT] / Non-metals
d) T / Gases
Correct: c

ufday 3t Ao & & e & & & s @2

Oscar awards are given annually in which of the following fields?

a) aifecT / Literature

b) T%hed / Films

c) fa<ill / Science

d) TFIIRAT / Journalism
Correct: b

AEIA: Pl A NG Tollgel a1 &b T fSFer &2

The gas predominantly responsible for global warming is-

a) Carbon dioxide

b) Carbon monoxide
c) Nitrous oxide

d) Nitrogen peroxide
Correct: a

gz ford ot &l fayd Fa & uRafda awar &2

Dynamo converts which energy in to electrical energy?-

a) Heat

b) Mechanical
c) Chemical

d) Magnetic
Correct: b

gl W 30T HAH FHOR TG HIAHT &2

The hardest substance available on earth is-

a) Platinum
b) Diamond
c) Quartz
d) Gold
Correct: a

Taus elRad hg el & &2

Wankhede stadium is situated in which city ?

a) Chennai
b) Bangaluru
c) Mumbai
d) Hyderabad
Correct: C



73.

74.

75.

76.

77.

78.
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STHUTST O fhH Weol ¥ IS &?

Jaspal Rana is associated with which sport?

a) Tennis

b) Badminton
c) Shooting
d) Archery
Correct: c

Pl HAG & YD TF DT eIl &7

Who summons the joint session of the Parliament?

a) U FHAT / Prime Minister

b) Tl'g'tlﬁ / President

c) 3T / Vice-President

d) s AT & TR / Speaker of Lok Sabha
Correct: b

ey Aarad Ff¥eRY fhad gR1 gs fhar Srar €2

The Chief Election Commisioner is appointed by whom?

a) President

b) Prime Minister

c) Committee comprising PM, Leader of Opposition and the Home Minister
d) Council of Ministers

Correct: a

Shuguadt @ & O forg o1 gfgdeor &2

GSLV stands for -

a) Geo Satellite Launch Vehicle

b) Geological Survey and Land Venture

c) Geological Survey and Landscape Vehicle
d) Geo-Stationary Launch Vehicle

Correct: d

TSGR Hpegd  del W 7

Bandipur sanctuary is located in the state of -

a) hATed / Karnataka
b) P / Kerala

c) Y USRT / UpP

d) HET U / MP
Correct: a

el faw o1 SorarE fohg Sy & e & forw fear srar &2

The injection of anti-toxin is given to prevent-

a) e RATTAE / Filariasis
b) CIsWhIss / Typhoid

c) ar & /1B

d) e / Tetanus
Correct: d



79. TsH & faEARd § F4T &2
AIDS stands for -

a) Acquired Immuno-Deficiency Syndrome
b) Acquired Immunity Disease Syndrome
c) Acquired Infectious Disease Syndrome
d) Acquired Immunity Deficiency

Correct: a

80. SIR-URHA Ied T AT dal o7
The headquarters of North-Western Railways is at-

a) SIIYY / Jaipur
b) SYgY / Jodhpur
c) 3747l / Ambala
d) 3TSTHT / Ajmer
Correct: a

81. ¥R & STHSN PIS FAT &?
What is the ISD code of India?

a) 001
b) 0090
c) 0091
d) 0092
Correct: C

82. AT 3ih 'M' hg TEIAT & R &2

Roman numeral '‘M' is equal to what number in Arabic?

a) 10000
b) 100

c) 1000
d) 1100
Correct: C

83. 30Tt Afcgay foraa Bt wreaTese & e &2

30 degree celsius is equal to how many degrees of Fahrenheits?

a) 75
b) 78
c) 80
d) 86
Correct: d

84. U4 WSS & TSl I FAT AUED H)e?
A4 size paper has the following dimensions (in inches)?

a) 8x11

b) 8.1x11.5
c) 8.2x11.6
d) 8.3x11.7
Correct: d
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85.

86.

87.

88.

89.

90.
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fra e o |ifeah Gaw & ®U & FART Sam &2
Which day is observed as 'Statistics Day'?

a) 29th June
b) 28th June
c) 29th July

d) 28th May
Correct: a

S 3R § & faeaRd §9 &1 &2
What is the full form of GRE?

a) General Research Examination
b) Graduate Record Examination
c) General Review Examination
d) Graduate Review Examination
Correct: b

e o1 faeaiRa & @ g2
What is the full form of SAT?

a) Schooling Aptitude Test
b) School's Aptitude Test
c) Scholastic Aptitude Test
d) Statistical Aptitude Test
Correct: c

IroTdT 3T &l 64T fhg ay & fopar ar=r am?

In which year the Planning Commission was set up?

a) 1947

b) 1949
c) 1948
d) 1950
Correct: d

gy e & @ fre & T s 3 99 &

Milk is a poor source of -

a) hiorraa / Calcium

b) WET / Protein

c) FIEEIS3T / Carbohydrate
d) farerfda-4dr / Vitamin-C
Correct: d

AT THoll- fUSR & fohdell gafordt gidr &2

Human rib cage contains how many ribs?

a) 12
b) 16
c) 18
d) 24
Correct: d



91. JEIRI P Ford & fow fora g @ grer fear smar &2

The gas used for inflating balloons is-

a) IferIaT / helium

b) gI8alel / hydrogen
c) 3T / argon

d) JiTFeTeTd / oxygen
Correct: a

92. 3Fd o S & ToU TaEHd 6T &1 a1 T aifeu ?

For carrying acids, the container should be made of-

a) Colfeadd / Platinum
b) i / Lead

c) TIET / Silver

d) e / Copper
Correct: b

93. HAd R F ApdH A1 v & D &2

The human body contains maximum amount of-

a) e / Proteins

b) ZFIEI‘T'Q‘CI@? / Carbohydrates
c) UTel / Water

d) AT / Fat

Correct: C

94. WRA & AT Pg alell HEIF YOIl Pl el § IUAIT?

India adopted a federal system with a strong centre from-

a) 3TATR@T / USA

b) TSI / Canada
c) STHAT / Germany
d) 3RS / Ireland
Correct: b

95. Fsehl X YANT BId dTel Ulall AT &b ofFdl A Pl AT T Bl &2 Yellow lamps

used as street lights contain which of the following gases?

a) ifsTH / Sodium
b) faAT / Neon

c) 3413—'{[15( / Mercury
d) 3T / Argon
Correct: a

96. 'olichcieh’ T &2

'Loktak' is @...eeveeereerennane

a) g1l 3R areér / valley
b) ieT / lake

c) ST / river

d) JATRUA / newspaper
Correct: b
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97.

98.

99.

100.
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HIST o Th ol U1 T fohelell &2
The pH of human blood is

a) 7.2
b) 7.4
c) 7.6
d) 7.8
Correct: b

a) YT / rice

b) fl{ / wheat

c) HUTy / cotton

d) Taoed / oil seeds
Correct: C

TET Wl fGad &a AATAT ST 82

Which day is observed as National Sports Day?

a) 29th August
b) 28th August
c) 29th July

d) 28th July
Correct: a

AR A Hdicd Wl QEBR Dl AT 82
Which is the highest sports award in India?

a) o el Wl IF gIEDP / Rajiv Gandhi Khel Ratan Puraskar
b) HGiT-T gIEDPR / Arjun award

c) IR GIEPR / Dronacharya award

d) ISP Ehﬁé %l / None of the above

Correct: a



